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POPULATION STUDIES
PAPER —1I

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which one of the following is the most exhaustive source of Population Data ?
(A) Census (B) Demographic Surveys
(C) Population Registers (D) Vital Registration System
2. The most Basic Equation that expresses the change in population overtime in a simple

form is known as :
(A) Balancing equation (B) Quadratic equation

(C) Integeral equation (D) Functional equation

3.  For calculating Total Fertility Rate (TFR), the Denominator is :
(A) Population 15-49 age-group
(B) Married women 15-49 age-group
(C) Total women 15-49 age-group
(

D) All ever married women irrespective of their ages

4.  As per the 2001 census, the number of female per thousand males in India is :
(A) 930 (B) 932
(©) 933 (D) 946

5.  Which of the following states has the highest Infant Mortality Rate ?
(A) Andhra Pradesh (B) Assam
(C) Madhya Pradesh (D) Orissa

6.  Which state has the highest incidence of early marriages (below 18 years), as per 2001

census ?
(A) Andhra Pradesh (B) Bihar
(C) Jharkhand (D) Madhya Pradesh
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SAEEAT AT

9T T — 11
A : WIS # e (50) 9g-fahedia Ue ¥ 1 YA U¥ % & (2) 3k &1 et el ok I
iy
1. SHEET GEG! 3TRS T it Hanior g feihd § 9 i § 2
(A) SO (B) SHIifhRehIa Felaqur
(C) SHEE FeE (D) STH-YF GSIIohTul SHee

2. HalHH YAd THIHU S SHEEA H THAMR aRads TRa €9 H e hidl § F Heddl ¢ 2
(A) HI HHIR (B) (T HHIHIU

(C) HHTRSH HHIRT (D) WhelTcHS HHTRTO]

3. e YRl X i AT A % forg, & (o) ® -
(A)  15-49 Y- =t SHGEA
(B) 15-49 Y- i forenfed fera
(C)  15-49 Ag-a7 =l Fa1 &=

(D) 3T & 9&7 & o1 o faanfea fomi

4. STFIUMT 2001 % ATER 9RA | id TR Tl R Afgensti ot §e ¢
(A) 930 (B) 932
(C) 933 (D) 946

5. fefeadafretad g gg Rs=mu g2
(A) 39 U< (B) 3THM
(C) ¥ I (D) 3

6.  SIRIUMET 2001 % TR, f7d9 T3 & &7 o H foaml (18 94 § %H) &I Y9E-Hw qar=
7
(A) 3TFY U (B) fa=r
(C) wREE (D) W U
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10.

11.

12.

13.

Human Development Report is prepared by :
(A) WHO (B) UNDP
(C) NSSO (D) UNICEF

Which state of India has the highest proportion of child population (0-6 years) as per

the 2001 census of India ?
(A) Andhra Pradesh (B) Bihar
(C) Madhya Pradesh (D) Uttar Pradesh

According to 2001 census, the state with lowest density of population is :
(A) Arunachal Pradesh (B) Jammu and Kashmir
(C) Mizoram (D) Sikkim

Women’s Day is celebrated on :
(A) 8th March (B) 15t June
(C) 11t July (D) 15t December

Human Development Index (HDI) is a composite index of :
(A) Health, Literacy and Education, Employment

(B) Health, Population-size

(C) Employment, Per capita income, Per capita investment
(

D) Literacy and Education, Physical resources, Monetary resources

Infant Mortality Rate in India as per 2001 census is lowest in the state of :
(A) Karnataka (B) Kerala
(C) Andhra Pradesh (D) Meghalaya

Perinatal Mortality covers :

(A) Late Foetal deaths

B) Early Neonatal deaths

Late Foetal and early Neonatal deaths
Neonatal deaths



10.

11.

12.

13.

Ta faerrd fdre foreeh gR1 TaR &t S © -
(A) T=.TES. (B) I.TAEL.
(C) TA.TH.TH.3. (D) TAEF (I.TH.3AB.HITE.)

STUMAT 2001 F STER 9RA & g T § o1 SHE@ (0-6 99) 1 3T{U S=IaH ®
(A) 39 U< (B) feeR
(C) WA WY (D) W U

SRTOAT 2001 % TTER S & 00 S o1el T3 § -

(A) STEUEA Je¥ (B) STH Td WHITHI
(C) THeim (D) fafern
wfgen feaw e fod wmn S €

(A) 8HTH B) 133

Q) 11 JarE (D) 1 feEm=R

el foeht eehien F=ifoRd ol AT YFHIE © :
A) TR, Il SR ey, ISR

B) e, SHEH-3ThR

C) TR, ufa =afed st ufa =afead e

D) weral wa fren, ofifass darem, wifas darem

(
(
(
(

SRTUAT 2001 % 3TER 9Rd § 91y 9y ) fore o # feam #
(A) HAleh (B) XA
(C) 39 U< (D) HETe™

Ifyeier g9e gog o feiferd & & i e €
A) FEIRR 1Y 9

B) R Tesd g

C) IHIRR T iR YRfEee Fawmd 9

D) oS 4G
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14.

15.

16.

17.

18.

19.

20.

Sustainable development does not relate to :
(A) Efficiency (B) Equity
(C) Future generations (D) Rapid growth

The proportion of old persons (60 years and above) in 2001 census of India is close to :
(A) 12 percent (B) 10 percent
(C) 7 percent (D) 5 percent

According to 2001 census at India, which amongst the following union territories,
experienced a negative growth ?

(A) Delhi (B) Pondicherry
(C) Andaman and Nicobar Islands (D) Lakshdweep Islands

The Vital Registration in India is carried out by which of the following :
(A) National Sample Survey Organisation

(B) Registrar General of India

(C) Director General of Health services

(D) Central Statistical Organisation

Which among the following countries has the highest fertility ?
(A) Afghanistan (B) Niger
(C) Somalia (D) Uganda

Population enumeration in 2001 census was pre-poned incase of the following states
for technical and administrative convenience.

(A) Assam (B) Jammu and Kashmir
(C) Sikkim (D) Gujarat

Which census of India in formation on male Age at marriage was collected for the first
time ?

(A) 2001 (B) 1991
(©) 1981 (D) 1971
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14.

15.

16.

17.

18.

19.

20.

YR (SreenTey) faemma = ¥ 9 forg 9 grafgd 61 ©

(A) PRI (B) W=
(C) it Hifea (D) o 9fs

IR 1 SRTUAT 2001 H 60 3R S1E1 96 o g5 SAfFEl 1 ST o THY ¥
(A) 12 gfdqerd (B) 10 fqerd
(C) 7 wfasrad (D) 5 gfasrd

AR Sl STOAT 2001 H FifRd G917 &5 § 9 fordq Tk gfg 1 e19a foran
(A) feeedt (B) Hifve=’t
(C) 3femH wd fHenem (D) w&EM

IRA H - Tsiereo f=tifha & ¥ fhm & g fohan Sman &
A) U gfaee Heer e

B) 9Rd % Hal R

C) ey HamT Hgl fesreh

D) %< HifesE e

(
(
(
(

Terd Afeeh geeiera Feiffrd H A frmew d €
(A)  STHIMITEH (B) FTESR
(C) wrmfera (D) 3i=er

fr=ifera U=l # 9 forg T5 ® 2001 1 SIOFT H ST Skt UMD Skl dehrieh! 3R Y9mEfTen
foren gq gafaad foran = o

(A) AEH (B) ST¥ o whIvHR

(C) Tafsrm (D) TN

forame & 9T qeu &t 31 W Yo HaeH WRA i fohd ST0AT 3 Hehford =it
(A) 2001 (B) 1991
(C) 1981 (D) 1971
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21.

22.

23.

24.

Assertion (A) : InIndia family welfare programme could not achieve its desired goals.

Reason (R) : It remained primarily a government programme with top-down
approach.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Son preference in India is high.

Reason (R) : Old age security schemes are negligible in India.

A) Both (A) and (R) are true and (R) is the right explanation of (A)
B

~—"

(

( Both (A) and (R) are true but (R) is not the right explanation of (A)
(C) (A)is true but (R) is false
(

D) (A) is false but (R) is true

Assertion (A) : The female literacy rate among the Tribal population of India is low.

Reason (R) : The tribals have poor access to educational facilities.
(A) Both (A) and (R) are true and (R) is the right explanation of (A)
(B) Both (A) and (R) are true but (R) is not the right explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : In most of the developing countries the death rates are declining at
faster rate as compared with the birth rates.

Reason (R) : There has been an advancement in the area of medical technology
and improvement in public health facilities in the developing countries.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(

D) (A) is false but (R) is true



21.

22,

23.

24.

FYT (A) : ¥RA H qRAR FHTAT hHA A U A&l hl U T h Fehal! |
FHROUT (R) : I8 T T SR H = IUMTH a1el T Hrishd ol & |

(A) (A) TS (R) SHI T2 §, T1 (R), (A) T e TILHI & |

(B) (A) W (R) <Ml WEl ¥, T (R), (A) 1 TEI TR0 Tl 1

(Q) (A) F& T fog (R) o1 T

(D) (A) 7o & foheg (R) T R 1

IUFHIT (A) :  9RA H I SFar Ak

N (R) : IRA H FSTaree YR A A9 -1 2 |

(A) (A) 3R (R) SH 9 € 3R (R), (A) T T TIETHT T |
(B) (A) 3R (R) THI ¥ § T (R), (A) Tl T TILIHI 7 < |
(CQ) (A) § T T (R) 3T6H T

(D) (A) 319 € T (R) T &

AT (A) : 9N B S 6t SHe | S e ) 7 ¥
FHRT(R) : Siferer glaensti T SHnael S I TET ¥
(A) (A) 3R (R) TH § § T (R), (A) T T TILH T |

(B) (A) 3R (R) THI ¥ € T (R), (A) T Tl TR Tl 7 |
(C) (A) ¥ € T (R) 39 €|

(D) (A) 3 & W (R) 9 €|

3ifuamerT (A) :  3feRie foerraeiiel el # S <X ! garl § gog ST oSt § iR W e

&NRUT (R) : forerrastial <o o (Htener) Wrenfient iR <ieh w@aren gaensti &
& | Safa |

(A) (A) 3R (R) TH T € IR (R), (A) T T TIETHRIT T |
(B) (A) 3R (R) T ¥ € IR (R), (A) T TeI TA<IH Tal T
Q) (A) T T T (R) 3THA T

(D) (A) A T T (R) 9 B |
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25.

26.

27.

28.

Assertion (A) : The demographic goals laid down in the National Population
Policy-2000 could not be achieved in the stipulated time frame.

Reason (R) : Over ambitions goals and lack of coordination among the concerned
departments weakened the implementation.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

Assertion (A) : India has entered the third phase of demographic transition.

Reason (R) : India birth rate and death rate have relatively declined.
(A) (A) and (R) are true and (R) is the right explanation of (A)

(B) (A) and (R) are true but (R) is not the right explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Women in India experience higher food insecurity in low income
households than men.

Reason (R) : Cultural practices constrain her access to food.

(A) Both (A) and (R) are true and (R) is the right explanation of (A)
(B) Both (A) and (R) are true but (R) is not the right explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The health and Nutritional states of women in India is not satisfactory.

Reason (R) : The dietary intake of most of the women is deficient by 500 to 600
calories per day.

A) Both (A) and (R) are true and (R) is the right explanation of (A)

B) Both (A) and (R) are true but (R) is not the right explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

J—1509 10



25.

26.

27.

28.

TUFIT (A) : T SHEE Hifd-2000 H FHia SHifchen s e Faa 993 1afy ¥ g™
&l TRy T 9 |

FNUT(R) : Afq ARehial <18 IR WEIfgd faumil o <9 90 & A9 & hRO
foraTaa AR 78 T

(A) (A) 3R (R) THi 9 € IR (R), (A) T T TICTHT T |
(B) (A) 3R (R) THI ¥ § T (R), (A) Tl T TILIHIT 7 < |
Q) (A) ¥ § T (R) 39 T

(D) (A) 38 § T (R) T T

SIUFYT (A) : WA 3 SHIfeheh T HehHUT o <G =0l | Fa9r fham €1
T (R) : IRA i ST X IR o R o &9 § iR T § |
A) (A) 3R (R) SF T € 3R (R), (A) T T& TR T |

(A) 3R (R) T T € T (R), (A) T T& TILHT 7T ¢ |
C) (A) ¥ T T (R) 319H T

B

~—

(
(
(
(D) (A) 38 € T (R) T T

UFHIT (A) :  YRA | T o1 FZrall § Wy (o) Frareft STgRe gesi ot a1ver fom
ST HEHH HIAl ¢ |

FRUT(R) : GiEhfaer gensti o HRoT @ ueid ae St g ol s i €

(A) (A) 3R (R) TH T € IR (R), (A) FT T TIETHIT T |

(B) (A) 3R (R) IHI A ¥ W (R), (A) HT TSl TILIH T ¥ |

() (A) § T T (R) 3T6A T

(D) (A) 18 & W (R) ¥ ¥

SIfUFgT (A) : WA H forai o1 Tmees iR difires TR gwirose T2l § |

FHRT(R) : stferspier Tl & Sfeh 3R o wfd 59 500 & 600 FeART T wH &l S
(A) (A) 3R (R) TH T € 3R (R), (A) T T TIETHRIT T |

(B) (A) 3R (R) THI T § W (R), (A) HT TSl TILIH0 T B |

() (A) § T T (R) 3T6H T

(D) (A) 38 € T (R) T T
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29. Assertion (A) : Violence and crime against women in India are high.

Reason (R) : Women are still considered the weaker section.
(A) (A) and (R) are true and (R) is the right explanation of (A)
(B) (A) and (R) are true but (R) is not the right explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

30. Assertion (A) : Inmost of the developing countries, infant mortality rate has declined

substantially.

Reason (R) : Immunization programmes have been implemented in most of the
developing countries.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

31. Arrange the following in ascending order according to the literacy rate of population
aged 7+ years in 2001 census.

(A)
(B)
(©
(D)

Goa, Kerala, Delhi, Mizoram
Delhi, Goa, Mizoram, Kerala
Mizoram, Kerala, Goa, Delhi

Kerala, Delhi, Mizoram, Goa

32.  Which combination of states in descending order of their population size.

(A)

Andhra Pradesh, Tamil Nadu, Madhya Pradesh, Rajasthan
Tamil Nadu, Andhra Pradesh, Madhya Pradesh, Rajasthan
Rajasthan, Tamil Nadu, Andhra Pradesh, Madhya Pradesh
Madhya Pradesh, Tamil Nadu, Andhra Pradesh, Rajasthan

33. Arrange the following states in an ascending order according to female literacy rate in
2001 census.

Maharashtra, West Bengal, Andhra Pradesh, Punjab
Andhra Pradesh, Punjab, West Bengal, Maharashtra
Punjab, Maharashtra, Andhra Pradesh, West Bengal
West Bengal, Punjab, Maharashtra, Andhra Pradesh

12



29.

30.

31.

32.

33.

ST (A):  ¥Na H fordl & fovg fdan ok oty aga a1fuss 2|
HRUT (R) : o ot o1ef} off AR ot THen ST R

(A) (A) 3R (R) TH T € IR (R), (A) T T TIRTHRT T |

(B) (A) 3R (R) THI ¥ € T (R), (A) T T TILIHIT 7 < |
() (A) ¥ T T (R) 3T9A T

(D) (A) 318 € T (R) T €|

afiamerT (A) :  fava & sifuskier foemrasiiar <o #, forg] g3 < st iR T8 21

FRUT (R) : ferenTen forshrasiiel < H Uiieero (SRHTSeH) hishd TRt forg g
gl

(A) (A) 3R (R) TH T ¥ IR (R), (A) T T TILTHRIT T |

(B) (A) 3R (R) THI ¥ § T (R), (A) Tl T TILIHT 7 < |

() (A) T T T (R) 3T9A T

(D) (A) 38 € T (R) TA T

2001 T SFRIUMAT & STIER 7 8 iR 3ifyeh 3 &1 TGN i TIeRal X & ER W
freAifeRa w1 STRIET A H Fafeerd Sifsd |

(A) e, ohtd, foeeh, fasim

(B) feoet, Me, THsiRm, e

(C) TosiR™, e, e, feeet

(D) ¥, feeedt, i, Tien

TH! <l HIFHT G SHh! U &% 3TN & RS HH H T
(A) Y U<, AfHd TTg, H& UQ¥, TSTeer™

(B) dfHel ATg, AFY YaW, HeA Ya¥l, TS

(C) TSR, AfHe g, 3Ty WS, HET T

(D) W= YW, THE TG, 3779 I, TTEA™

Freiferd Tl w1, 2001 St SO H A HiERAT X h STIER SRR HH H Hafed
RIS |

(A) WRNTE, U= S, STy gew, USd

(B) 3ATY U<, USTd, TI=rel ST, HenTe

(C) ST, HeRTSE, 3Ty YT, Tiy=t et

(D) uf¥=rdt STet, USiTe, HERTS, Ay gew
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34. Arrange the following states in an ascending order according to their sex-ratio in 2001
census.

(A) Kerala, Chattisgarh, Tamil Nadu, A.P.

(B) Chattisgarh, A.P., Kerala, Tamil Nadu
(C) Tamil Nadu, Kerala, Chattisgarh, A.P.
(D) A.P., Kerala, Chattisgarh, Tamil Nadu

35. The correct combination of the countries in descending order according to their size of
population.

(A) United States, Indonesia, Bangladesh, Japan
(B) Indonesia, United States, Bangladesh, Japan
(C) Bangladesh, Japan, United States, Indonesia
(D) Japan, Bangladesh, Indonesia, United States

36. Arrange the incidence of child labour in the following states in ascending order as per
the 2001 census :

(A) A.P. Uttar Pradesh, Bihar, Rajasthan
(B) Uttar Pradesh, Bihar, A.P., Rajasthan
(C©) Bihar, Rajasthan, A.P., Uttar Pradesh
(D) Rajasthan, A.P., Uttar Pradesh, Bihar

37. Arrange the following states in descending order in terms of IMR values available as
per the latest SRS Bulletin :

(A) Uttar Pradesh, Madhya Pradesh, Orissa, Rajasthan

(B) Madhya Pradesh, Orissa, Uttar Pradesh, Rajasthan
(C) Orissa, Uttar Pradesh, Rajasthan, Madhya Pradesh
(D) Rajasthan, Madhya Pradesh, Orissa, Uttar Pradesh

38. The correct sequence of the stages of Demographic Transition is :

(i) Low birth rate with low death rate

(i) High birth rate with high death rate
(iii) High birth rate with low death rate
(A) @) (@) (i)

(B) G) @ ()

(© G (@) @

(D) () @) ()
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34.

35.

36.

37.

38.

FrifRa TAT 1 2001 T STOAT H 37k felv1-3Tq9d o STIER AR A § Hareed
HIfSTT |

(A)  H, BAGTE, AFe g, T+ TW

(B) BTG, 3TY Ya¥l, hid, qfHd g

(C) dfae g, e, BTG, ST TeW

(D) 3T YT, i, BATTe, afda g

T F SMHR IR SHHEA F STIER 31T hH H I7HT Tal FASH aarsd |
(A) HIF T2 AR, SSHTE, SRy, ST
(B) SR, I g ST, STeres], ST
(C) NTaITRY, SITUM, HIF T U], SSHRE
(D) ST9M, SRS, 3SR, WY T STHEH

freifera Tl ® 916 99 ) GUE-EH Sl SEIOET 2001 F STER SARE FH B Efied
HIfST

(A) Y Ie¥, S YW, foaeR, e

(B) T U<V, faeR, 3Ty Waw, Tsieer™

(C) ToreR, TSR, 3Ty T, W W

(D)  TSTEAM, Y U9, SR U<, foer

freifeRa T2 b1 31f-aH TSR TH. Foifed & ST{UR 3UaTey 318 TH.3TR. qodi o §rerY H
TR A | HarEed Hiflg

(A) FUI., TH.UL., IS, TSI

(B) THL, IS, .91, TUSTEAH

(C) 391, 9.41., TTe™, TH.I.

(D)  USTEYM, TH.OT., 3L, 4.9

STHIfeheh 1T HhHT T STeeeraii o1 Tel 31T ¢

() FESHREmF=EggXR

(i) = TH I HE I GG T

(i) = TH R T T g

(A) @ () (i)

B) @) @) (i)
) () () (@)

(D) @) @) @
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39.

40.

41.

Arrange the different approaches adopted by the Family Planning programme in India
in a chronological order.

The Reproductive and Child Health approach (RCH), The Extension approach (Ext),
The camp approach (camp) and The clinical approach (clinical).

(A) RCH, Ext, Clinical, Camp
(B) Camp, RCH, Ext, Clinical
(C) Clinical, Ext, Camp, RCH

(D) Ext, Camp, RCH, Clinical

Arrange the following in a descending order according to the literacy rate in 2001
census.

(A) Goa, Kerala, Gujarat, Maharashtra
(B) Gujarat, Maharashtra, Goa, Kerala
(C) Kerala, Goa, Maharashtra, Gujarat

(D) Maharashtra, Gujarat, Goa, Kerala

Match List-1I with List-II.

List-1 List-1I
(a) Migration Since Birth (i) Life time migration
(b) Rural to urban migration (i) Migration stream
(c) Push-Pull factors (iii) Migration theory
(d) Inter-state migration (iv) Long distance migration
Codes :

(@ @) (o @@
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39. 9Rd ¥ URaR FESH wriwd g1 319 T f9e IUNTHI ol I shiaeh sl H e
HIT

frirefaa e =mEee %y W (IMA.TE.) & TWHIH TWE (S.TE.d.) & 0 wH
C O RAERRESRIET R IERCESRIETN

(A) FARH.TE., 3.3, TR, F
(B) M, INHM.TH., 3. 0.3, facrarat
(C) oo, 3.3, T, STREL.TH.
(D) T3, Y, STRHL. ., foefiea

40. TeifoRa T 1 2001 T SFTOAT H HIGRAT X o STIHR SToRIE! shH H AT HifT |

(A) T3, hd, 7O, HERIEL
(B) TSI, HENITE, e, et
(C) A, ST, HERTE, TSR
(D) NI, TSHI, M, et

41. -1 gei-11 % |1y gafad wife

get-1 -1l
(@) 9 YA () S et e
(b) T ¥ T YEs (i) Yo Yo
() TU-9a FRh (it) oM g
(d) A T5F Yoo (iv) <l T Tk oo
FiE :

(@ (B () (@
(A) @) @) @) (i)
(B) G () (v) (D)
Q) @) (@Gv) @) ()
(D) @(v) @) @ (i)
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42. Match List-I with List-II.
List-1 List-11

(a) Kingslay Davis (i)  The population problem
(b) Bongaard (i) Intermediate variables affective fertility
(c) Carr Sauders (iii) Stable population model
(d) Lotka (iv) Proximate Determinates of fertility
Codes
(@ (b () (@
@A) (@) @) 0 )
B ) @) @ 0
© (v @) @) @)
D) () () @) @)
43. Match List-I with List-II.
List-1 List-11
(population) (Category of town)
(a) 25,000 (i) Class VI
(b) 5000-9999 (i) ClassV
(c) 10,000-19,999 (iii) Class IV
(d) 20,000-49,999 (iv) Class III
Codes :
(@ (b () (@
@A) (O @) @) @
® () (O @) ()
© (@) () @ @
D) (v) @) () @)
44. Which one of the following is not correctly matched :
(A) World Environment Day - 5th June
(B) World Health Day - 7th April
(C) World AIDS Day - 1st December
(D) World Population Day - 15th July

45. Which one of the following is not matched correctly :

(A) Highest IMR - Madhya Pradesh
(B) Highest Density of Population - Andhra Pradesh
(C) Lowest sex-ratio - Haryana

(D) Highest share of urban population - Maharashtra

J—1509 18



42. Ge-1 1 Ge-11 & 919 gafad Hif
get-1 -1l
(a) T Sfom (i) < YA s
(b) STE (i) seuHifete Aftusey whies wifad
(c) R Hie™ (il) TR SHEEN (Raa YeH Hed)
(d) e (iv) TS o Teheadl faRe
HIE:
(@ @) () @
(A) @) (@Gv) @ (i)
(B) @) (v) @) ()
© (@v) @) @@ @
D) @ @) @) (Gv)
43. G-Il Geit-11 & Y gafad i
g1 ger-11
(SEE) (R &t goft)
(a) 25,000 ()  FOR-VI
(b)  5000-9999 i) gof-v
(c) 10,000-19,999 (iii)  Af-TV
(d) 20,000-49,999 (iv) &Uft-III
HIE :
(@ @) (© @
(A) @) @) @) (i)
(B) G) (@@ (@v) (i)
Q) @) (@Gv) G ()
(D) (v) () @) ()
44. fr=ifRa o F o9 1 & YAfera T 2
(A) fava qafer faad - 53
(B) fava ey feag - 7394
(C) fava teyq feem - 1 fqEer
(D) fowa smgen fegm - 15 9@
45, fyeifera & | e w8 gafad 761 €
(A) = g g - A
(B) S H Halw T - Y UeW
(C) fr=aw feiv-srurd - @@
(D) TRIF SHESA Fl Folia fgedl - eI
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46.

47.

Read the following passage carefully and answer questions no. 46 to 50 :

Better Sanitary conditions and improved micro-environment in the habitat or
workplace are the most important requirements for health for all. In the coming years,
we also need to pay attention to the working conditions within factories as well as
open workplaces, be they coalmines, quarries or roads. Removing health hazards to
which our people are exposed is a crucial national mission. It is not enough to consider
‘global quality levels” of living and working places only for the well-to-do. Ordinary
citizens too deserve and have a right to live and to work in a good environment. After
a good and clean environment comes the need for better nutrition, with necessary food
supplements. Preventive health care systems - inoculation, vaccination, immunization,
periodic health checks and medical treatment are the next steps. The state should bear
the responsibility to assure people of this health security cover. But how is this to be
implemented ? It is true that the public health services are under severe strain. There
is also a tendency towards commercialization of medical services, which by itself is not
bad, if there are countervailing assurance or social security covers that make them
affordable for most. Never the less, there are also a number of bright spots. Many
medical professionals who run expensive medical care system to cater to the needs and
fancies of the affluent, also subsidize the weaker sections by providing them with good
services. There are also a number of systems using alternative and holistic medicine
which are promoted by well trained specialists, some of these can bring down the cost
of securing the general health care system. Given all this, we can take up the challenge
of ‘health for all’.

Our National mission is :

(A) to provide, Housing for All

(B) to reduce unemployment

(C) to provide better sanitation conditions

(D) to remove health hazards

Quality Health Services should be available :
(A) For one and all

(B) For those who can pay for the services
(C) In the private sector only
(

D) In the public sector
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46.

47.

feTfena aRi=eq &1 <77 @ Ui 3K 991 &1 &I 46 @ 50 T T ST :

ST A1 hed-¥e H o 9Th 9E i feefia o 3o qad waiew @ & fag
ot Heerqul 3Ted €1 T At 3l H, 36 el o oY SR WY & Gl Hhid-Tee,
TR 9l FIIA FH TH &, TRl GH I Gk o, H w1 w6t Feafadi @ oft e 31 =nfew)
TR T TS Tarees Hwaeii SAoersii o1 el o T € S X i1 SR Hewyul T Jama
(faem) %1 fath agg omi & faw, T TR & o3 & Tl o Sfvass o il | eam
T AT TR ® | WO AR ot ST e | @ SR e i % U © IR 36 3% ot
ARHR & | T TR T=1 3R =5 IR0 o4 Sl €, Al ST o1e ST WTel uered qeeht
3R &R T Bl ST ST Bt B 1 39 Wy W, AR W @l ewerd - ke,
Hfqerere ehretor, TfaRetor (AW &THAT H01), WM W Wig iR iueig ST=R 7T
FeH T

T o1 ST Sl ol 39 T gReN oY & fod oTvasd e 81 W 39
foranfad &8 w1 §1 9% 99 © T Grdeiier @ darsil R 9% <od §1 39E 91
siwefia Fensti & afvReieRtor & ygfa €, S oTH o9 § 93 e €, af sued & Siig
STRATHA A1 FrHTfSeh GR&T oy feu o § 1 wiga ¥ Tafeada Usier, s, oered <nil st sl
3R TE=] 1 T8 FL o T 96T S S@Te e Iad &, FHSIR 9 ol oS! dar
TS Hich S 3Tfefeh Feraar off 24 ¥ |

agd o U ewrd o § S dehfoush IR Haife oy 1 swiHe Sl § e
g-yfdrfera foeme=i g1 seren foan St 8, 358 9 39 U= Wl SEYTe SAa€dl Yd & &

AR o & Fohell © | I8 96 T BH W, TH ' Foreh foaig T’ st A o1 STeaM i Hehd
g

TR T TH9M (Hamed) 1 e el ©
(A) ¥oh fod =)

(B) USHIR &l A AT

(

(

C) ER - Rl 5@ &
D) ey greefl Wall ohl g R

T[Ter UT TETeed WA SUeTsy g =fed
(A) w9 & fag

(B) = % foru St FaneH 1 M R TR ©
(C) faf =t e H

(D) GresITeh & o

J—1509 21 P.T.O.



48. Preventive Health Care system does not include :
(A) Vaccination (B) Immunization

(C) Periodic health checks (D) Clean environment

49. The goal of ‘health care for all’ cannot be achieved by :
(A) Improvement in micro-environment at home and at work
(B) Providing better nutrition
(C) Providing preventive health care

(D) Ensuring free health care and services for one and all

50. The tone of the passage can be best described as :
(A) Analytical and optimistic
(B) Biased and unprofessional
(C) Critical and discouraging

(D) Descriptive and conclusive

-00o0-
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48.

49.

50.

Tromes e Ty sHaEen ¥ =1 wfae 7 €
(A) Ffqeree et (B) ufawafo

(C) eEfes e S (D) = SR

‘Ho & Tord e’ o1 e T o g1 e e fRan ST gehar ©

(A) R H R W YA e § guR

(B) SIgaR U0 YSH LAl

(C) TToReh & T@vel UeH il

(D) §& & fou Figes @ c@ve R a9 gHafea &

IR=Re 1 olesl 7 ®9 | 93 e 9 afvia foran < 9ehan ©
(A) faecTomes T ST
(B) AR SR -9
(C) wHiaEs® IR fredes
(D) foaRomes SR o

-00o0-
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